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        

  GENERAL INSTRUCTIONS TO THE EXAMINEES : 
 

  (1)    -      

  Candidate must write first his/her Roll No. on the question paper 

compulsorily. 

 

  (2)        

   All the questions are compulsory to attempt. 

 

  (3)       -      

   Write the answer to each question in the given answer-book only. 
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      –  

     SECTION – A 

        , -    

 Write the correct answer to the given multiple choice questions in the answer- 

book.    (16  ½ = 8 )    

        

1.   -     

 ()  ()  

 ()  ()  

 Exchange of Information is called  

 (A) Communication (B) Feedback 

 (C) Time (D) Poster ½ 

 

2. -                ? 

 () - ()  

 () - ()  

 Which one of the method of Communication is used for applying leave at 

workplace ? 

 (A) Newspaper (B) Blog 

 (C) E-mail (D) Poster ½ 
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3.    ,      

 ()   ()  

 () ()  ()  ()      

 Rewarding of students is a type of motivation 

 (A) Intrinsic  (B) Extrinsic 

 (C) Both (A) and (B) (D) None of the above ½ 

 

4.           

 ()    ()   

 ()   ()   

 River and pond water is getting polluted  

 (A) By garbage (B) By rain 

 (C) By ice (D) By hailing ½ 

 

5.      .. (pH)     

 () 2.5 – 3.5  () 6.5 – 8.5 

 () 4.5 – 5.5 () 9.5 – 10.5 

 The suitable pH for irrigation water is   

 (A) 2.5 – 3.5 (B) 6.5 – 8.5 

 (C) 4.5 – 5.5 (D) 9.5 – 10.5 ½ 
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6.      

 ()   ()  

 ()  ()   

 Source of irrigation is 

 (A) Canal (B) Well 

 (C) Tubewell (D) All of the above ½ 

 

7.      

 ()   ()   

 ()   ()  

 An annual weed is 

 (A) Bathua (B) Doob grass 

 (C) Wild carrot (D) Pakweed ½ 

 

8. 2, 4-D         

 ()      ()     

 () ()  ()  ()      

 2, 4-D weedicide is used to control  

 (A) Narrow leaf weeds (B) Broad leaf weeds 

 (C) Both (A) and (B) (D) None of the above ½ 
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9.         

 ()    ()  

 ()  ()  

 An aphid insect is controlled by 

 (A) Rhizobium culture (B) Dimethoate 

 (C) Streptomycin (D) Mancozeb ½ 

 

10.         

 ()   ()  

 ()  ()  

 Anthracnose disease is controlled by  

 (A) Carbendazim (B) Endosulfan 

 (C) Malathion (D) Dimethoate ½ 

 

11.        

 ()   ()  

 ()    ()  

 Useful in biological pest control is 

 (A) Carbendazim (B) Dimethoate 

 (C) Lady Bird Beetle (D) Malathion ½ 

 



 6 

V-110 

12.       

 ()   ()  

 ()  ()  

 The crop of Solanaceae family is  

 (A) Onion (B) Pea 

 (C) Cauliflower (D) Tomato ½ 

 

13.         

 () 15 – 16   () 9 – 11  

 () 4 – 7  () 20 – 22  

 The storage period of ripe tomatoes is  

 (A) 15 – 16 days (B) 9 – 11 days 

 (C) 4 – 7 days (D) 20 – 22 days  ½ 

 

14.       

 ()   ()  

 ()  ()  

 An example of climacteric vegetable is  

 (A) Brinjal (B) Tomato 

 (C) Chilli (D) Cucumber ½ 
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15.      

 ()  ()   

 ()  ()   

 The disease caused by virus is  

 (A) Measles (B) AIDS 

 (C) Dengue (D) All of the above ½ 

 

16. -         ? 

 ()  – ‘A’  ()  – ‘B’ 

 ()  – ‘C’ ()  – ‘D’ 

 Beri-beri disease is caused due to deficiency of 

 (A) Vitamin – ‘A’ (B) Vitamin – ‘B’ 

 (C) Vitamin – ‘C’ (D) Vitamin – ‘D’ ½ 

 

 –  

SECTION – B 

     

 Very Short Answer Type Questions :   (8  ½ = 4)  

   17  24             

 In Question Nos. 17 to 24, write one correct answer from the given two options. 

   

17.          (/) 

 Local dialect is a kind of barrier in effective communication (Physical/Language) ½  
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18.      (/) 

 Type of internal motivation is  (Love/Reward) ½  

 

19.         (/) 

 Entrepreneurs can create in market (Employment/Unemployment) ½  

 

20.       (/ ) 

 Affordable and clean energy is  (Coal/Solar energy) ½  

 

21.           (-/) 

 Artificial watering of plants is called  (Drainage/Irrigation) ½  

 

22.       (/)  

 Weed of Kharif season is (Chaulai/Satyanashi) ½  

 

23.           (/) 

 The most active stage of tomato fruit borer is (Caterpillar/Larva) ½  

 

24.        (/) 

 Botanical pesticides are obtained from (Fungus/Plants) ½  
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 –  

SECTION – C 

 

    

 Short Answer Type Questions :  (8  1½ = 12) 

 

25.  -        

 Write any three types of non-verbal communication. ½ + ½ + ½ = 1½ 

 

26.        

 Draw a labelled diagram of mouse.  1½ 

 

27.        

 Draw a diagram of ICT devices. 1½  

 

28.           

 Explain entrepreneurship as a career option. 1½  

 

29.           

 Write any three advantages of drip irrigation method.  ½  3 = 1½  

 

30.           

 Write any three physical methods of weed control.  ½  3 = 1½  
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31.         

 Write the control of aphids pest. 1½   

 

32.           

 Write any three purpose of storing of vegetables.   ½  3 = 1½ 

 

 –  

SECTION – D 

    

 Essay Type Questions : 3  2 = 6 

 

33.     ()           

 Describe in detail the post-harvest handling of tomatoes. 2 

               /OR 

    ()           

 Describe in detail the post-harvest handling of chillies.  2  

 

34.           

 Explain in detail the first aid for burns.  2  

              /OR 

              

 Explain in detail first aid in case of drowning in water.  2  
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35.        

 Write short-notes on the following :  2  1 = 2 

 (i)     

  Maturity (Ripening) of vegetables 

 (ii)    

  First Aid  

      /OR 

       

 Write short notes on the following : 2  1 = 2 

 (i)   

  Maturity (Ripening) index 

 (ii)   

  Hand wash 

__________ 
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